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41 MR- 51 37 88 10.0 78.0
42 | FEHIE— 50 37 87 8.8 78. 2
43 FHH O PEH 36 57 93 14.8 78.2
44 | A HEBES 56 37 93 14. 8 78.2
45 | FEEHL T 49 37 86 7.6 78. 4
46 | PIEHEL 48 37 85 6.4 78.6
47 | BT 36 58 94 14. 8 79.2
48 | Hor—% 36 45 81 1.6 79. 4
49 | AIH e N M) 49 37 86 6.4 79. 6
50 | FAZEFELR 48 37 85 5.2 79. 8
51 | sRAEMASC 48 37 85 5.2 79.8
52 | HH R 54 37 91 11.2 79. 8
53 | S HFNSE 47 37 84 4.0 80. 0
54 | BEIHAHIR 36 53 89 8.8 80. 2
55 | W)IFT SR 57 37 94 13.6 80. 4
56 | =T 60 37 97 16.0 81.0
57 | HiRtE 1 63 37 100 18.4 81.6
58 | PEIERIE 36 63 99 17.2 81.8
59 | NI L ® 36 60 96 13.6 82. 4
60 | FEEARATH 63 37 100 17.2 82.8
61 | 74)Iff =] 65 37 102 16.0 86. 0
62 | HEREY 70 37 107 19. 6 87.4
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1 Fnfl 36 44 80 8.8 71.2
2 | SFHAH 36 41 77 5.2 71.8
3 FTHAE 39 37 76 4.0 72.0
4 WREES 36 38 74 1.6 72. 4
5 {iAa—FE 36 41 77 4.0 73.0
6  VEHE 36 46 82 8.8 73.2
7T BEEER 43 37 80 6.4 73.6
8  EEFHHE 36 43 79 5.2 73.8
9 | ZEHEKE 36 42 78 4.0 74.0
10 | {FE&kH] 39 37 76 1.6 74.4
11 | FRoLEH] 38 37 75 0.4 74.6
12 FEREE 36 39 75 0.4 74.6
13 K#EC 36 44 80 5.2 74.8
14 | B AL 42 37 79 4.0 75.0
15 FipEZ 36 43 79 4.0 75.0
16 | {hHIEFE 47 37 84 8.8 75.2
17 FYE 36 47 83 7.6 75. 4
18 FHHT 52 37 89 13.6 75. 4
19 | AR 45 37 82 6. 4 75.6
20 FAEACENR 36 52 88 12.4 75. 6
21 | RARE#H 36 44 80 4.0 76. 0
22 | ANHIT# 36 44 80 4.0 76.0
23 | R 47 37 84 7.6 76. 4
24 #ATEE 47 37 84 7.6 76. 4
25 HII B 46 37 83 6. 4 76. 6
26 | AL 45 37 82 5.2 76.8
27 | A HET 36 46 82 5.2 76.8
28 | EIREE 51 37 88 11.2 76.8
29  HHET 36 52 88 11.2 76.8
30 R 44 37 81 4.0 77.0
31 AR Z 44 37 81 4.0 77.0
32 HHEEL 50 37 87 10.0 77.0
33 kMW 36 57 93 16.0 77.0
34 | PR E 49 37 86 8.8 77.2
35 JLEFREIA 36 55 91 13.6 77.4
36 A AR 36 47 83 5.2 77.8
37 | KRB 52 37 89 11.2 77.8
38 | ZHEH 52 37 89 11.2 77.8
39 EHARET 52 37 89 11.2 77.8
40 A 1# 51 37 88 10.0 78.0
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